
The Binomial Theorem
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NOTE: there are (n + 1) terms

This extends to;
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(ii) Find the value of n so that;

85  a) CC nn =

kn
n

k
n CC −=

13
58

=
−=∴

n
n

8
20

87  b) CCC nn =+

k
n

k
n

k
n CCC =+ −

−−
1

11

19=∴n

( )
1135 ofexpansion  in the 5th term  theFind 





 −

b
aiii

( )
k

k
kk b

aCT 





−= −

+
35 1111

1

( )
4

7
4

11
5

35 





−=

b
aCT

4

747
4

11 35
b

aC
= unsimplified

4

78178125330
b

a××
=

4

72088281250
b

a
=



( )
9

2

2
13in   oft independen  termObtain the 





 −

x
xxiv

( )
k

k
kk x

 xCT 





−=

−

+ 2
13 929

1

0 with  termmeans  oft independen term xx

( ) ( ) 0192 xxx kk
=−−

6
0318

0218

=
=−
=× −−

k
k

xxx kk

( )
6

32
6

9
7 2

13 





−=

x
 xCT

6

3
6

9

2
3C

=



Exercise 15C; 
5, 6, 7, 8a, 9b, 10a, 11b, 

12, 14a, 15, 16, 18, 20

Exercise 15E;
1bdf, 2, 4, 5ac, 6ace, 7ad,

8ac, 9a, 10
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